Vi 4=3)Abavs

)- b RAi R

No.

20234 4H 1H

T B AL K A e BT A 199011
EETENRASE ERZRETS

TEL 082-837-3320

FAX 082-837-3306

ESEEES ik fih
r = %
AT 1E His
WO T E EF U i} i}
WA o0 5 FE B P %@%;@?ﬁ 31H,10H1H~12H10H ZELA OB IS -7
/1) =b DFTIA I E BT
A & p) = Bt % %
a7 )—1+0 I N A7v7 XidA7e7" 7o MUBEM ORRHE| A/ O
e 7| BEICLLEE e cm mm I LB
i@ 27 12 20 BB
TTEE T oA v kO fEOE USRIz G H B M O & K T E FEUN T E0 8
= |l ; L4 = b TR Y bR BB
%@ g o o & E {3 BB L Fo s K E o b
OISR LA R MR BEI) -t EREER — ke/mi
o K 0 K |  EEHEECER |[=> s J - FORE —T
£1E TEFET R O N OME B £ | B R OB S FMIC i sl Az A > b D BEED LR 55 %
TEE &t m & & B 0.30ke/uf LI F|BE(L K ED HEED LR — ke/mi
T FEUEE R RIET A MG 28 H |Em20 BEE0TRYIIEEED LR — ke/md
7= = =1 4.5 %|iREbEE O AT THKE —cm
fiE H 7t fek
T AV NAEEE L KFEEA L MERAH B g/ci | 3.04 [Naz0eq % | —
BRI D,y = 2 — m s | — [NasOeq =
fﬁfﬂdﬁ'@ %Zlﬁﬂjgl _ E#E . ’&l;ﬁ g/Cm _ % o
"%’ 3 ” TR L AR (R DK & S HRERN Y| BE /e |PRRIED
I E X E &L B Smrr | onE S 6 SR GEED
D) fwb = BTz AL R e BT Al 2 s—EELLTF 2.60 |2.60|2.64| 3.5+=1.5
B@HI TR Bz X AT ERET e - P |A{LETE 5LLTF 2.75 | 2.502.55| 2.0+1.0
%1€ — — — — — = — | = ==
| O FA 2010 JA B et K& R e APEAF )L 3—1520~10 7.00 |2.70[2.72] 0.5%£0.5
rﬁ@)&%m% Jis B T 2 AL R 2 A T T AlEL & L A—¥E10~5 5.95 2.702.72 | 0.5+0.5
H ® _ _ — _ _ _ _ _ —
(1) = — — - — — — | = —
BFADO 7= yISV10 AEJRZKF (BEYERE 1 18) Naul's 0.7
R 0 7 )| B4 = T 5 — i,/ a —
BRAF G - — ° -
WEMOEILDE | — Yk DK 4 [Tk Bk (HEA) | BREGyy Efy R | - %
EEHOFEMEE | & M\ — HOB M — BEVAT v UKOERD H - @
i & * ke/m
; i S 7} i B #t L B #t b fn il
+
e Te I X 0o 0000 la 0 o106
333 — - 175 | 521 | 336 — 557 | 371 — — 2. 50 — -
KE A~ b 52.5 %[k f & # L — %M B M 49.1 %
s = EHORERCHR, RRHOERRIOVTE, WY LIERTO50E00, | BAARGLH | fIE D Q) 60.0:40.0
(BRERES) [ HEHMD:@ 60. 0:40. 0

P 3ea L IRA DR —TH D bipa 07 v VA EBRaEE = AT 2.
EEEEER S & U ORIz @ AEOR, EfMFIOBAEOLETE,
HH6H1H~9H30H +20% ZEl12H11H~2H28H -10%




it & 5 B &
AL & 7p) & =F ES G
g V= hroO RO EE A7v7" XidA7/7" 7o— A M OB RKHE | AV OTEER
1§y 53 f%ﬁﬂli BO R cm mm ICEBEs
T1E 27 12 20 BB
R EHIE
(1) ZEahtet(v) WMTHEHOERICELEY v = 10 %
(2)BlE9HEE (m)
m2= SLZ_V = 33.8 N/mf
1i
100
fY>T m= 33.8 N/mf
(3)AkEAL REE(W/C) m = -18.8 + 27.8 X C/W
W/C = 27.8 = (33.8 + 18.8) X 100 = 52.5 %
W/C = 52.5 %
(4) BEfrk&E (W) ETHEOERICEY W = 176 kg/ni
(BYHEfIE A FE(C) C =W = (W/C) X 100 = 175 = 52.5 X 100 = 333  kg/m
Cv= C = % = 333 =~ 3.04 = 110 £/m
(6)z=&E(A) A = 4.5 % X 1000 = 45 2 /m |
(TEHBEME(G) HIBOFERZLD H»HIFERE = 0.568 mi/m EREE = 60.0 %
Gv = 0.568 X 1000 X 60.0 = 100 = 341 2 /m
Gl = Gv X 60.0 % X FEE = 341 X 60.0 % X 2.72 = 557 kg/mt
G2 = Gv X 40.0 % X REEE = 341 X 40.0 % X 2.72 = 371  ke/nd
(8) BHAEME(S) Sv = 1000 — (W+Cv+Gv+A) = 1000 — 671 = 329 £/md
S1 = Sv X 60.0 % X FEEEPF = 3290 X 60.0 % % 2.64 = 521  ke/mi
S2 = Sv X 40.0 % X FEEEE = 320 X 40.0 % X 2.556 = 336 keg/mi
(9)EME(s/a) s/a = Sv - (Gv+Sv) X 100 = 49.1 %
(10) B{EfiFIE(Ad) Ad = C X IINE X BE = 333 X 0.75 % X 1.00 = 2.50 kg/m
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